24. X.7 Implicit Differentiation Motivation Suppose we want to find tangent lines to a radius r circle centured at the origin. (ros O, rsin O) This circle has equation  $x^{2} + y^{2} = r^{2}$   $s_{0} = \begin{cases} \sqrt{r^{2} - x^{2}} \\ -\sqrt{r^{2} - x^{2}} \end{cases}$ A Multi-valued function! Treat y as a "local" function of x to find derivativas.

Diffurentiate both sides of the equation, using the chain rule to treat y as a function of x 2 Solve for dy (a) Put dy terms on left side of eq'n, factor out dy (b) Solve for dyr by dividing both sides by other factor on left.  $E_{q} = \frac{d}{dx} \left( x^{2} + y^{2} = r^{2} \right)$ chain rule!  $2x + 2y \frac{dy}{dx} = 0$ 

- for y = O  $\Rightarrow 2y \frac{dy}{dx} = -2x$ Depends on × and y.! Typical for implicit differentiation  $\frac{dy}{dx} = \frac{-x}{y}$ slope - ----So the tangent line through (ros 0, rsin 0) has (resso, slope  $\frac{-r\cos\Theta}{r\sin\Theta} = -\cot\Theta$ E.g. Find dy for the curve given by x3 sing +y = 4x+3;  $\frac{d}{dx}(x^{3}\sin y) + \frac{dy}{dx} = 4$ 3x' siny + x' ws y dy + dy = 4

so slope of tangent at  $(x^{3} \cos y + 1) \frac{dy}{dx} = 4 - 3x^{2} \sin y$  $\frac{dy}{dx} = \frac{4-3x^{2} \sin y}{x^{3} \cos y + 1}$ Problem Find  $\frac{dy}{dx}$  when  $xy \cos(xy) + 1 = 0$ . (0,3) is  $\frac{4-0}{0+1} = 4$ Derivatives of logs Recall  $\log_{b}(x)$  is inverse to e<sup>x</sup>  $\log_{b}(x)$  is inverse to b<sup>x</sup> ( .... log = log = ln) Than for y = log x, et = xq. Diffurentiating both sides, et dy = 1 for x>0

 $\Rightarrow x dy = 1$  $\Rightarrow \frac{dy}{dx} = \frac{1}{x} \quad \text{for } x > 0$ i.e.  $\log^2(x) = \frac{1}{x}$  for x > 0If y = log x, than bt = x. Applying log to both sides, y log b = log x y = 10g x 10g b Thus  $\log_{10}(x) = \frac{1}{x \log_{10} b}$  for x > 0

If y = bx, than log y = x log b. Differentiating, 1 dy = log b => dy = y log b i.a.  $\frac{d}{dx}b^{x} = (l \ge g \cdot b)b^{x}$ . We just employed a new technique !: Logarithmic differentiation:  $J = f(x) g(x) \implies \log y = g(x) \log f(x)$   $\implies \frac{1}{y} \frac{dy}{dx} = g'(x) \log f(x) + \frac{g(x)}{f(x)} f'(x)$ 

 $\implies \frac{dy}{dx} = f(x)^{g(x)} \cdot \left(g'(x) \log f(x) + \frac{g(x)}{f(x)} f'(x)\right)$ E.g.  $y = x^{\times} \implies \log y = x \log x$  $\frac{1}{y} \frac{dy}{dx} = \log x + \frac{x}{x} = 1 + \log x$  $\frac{dy}{dx} = \chi^{\times} \left( | + | \partial q \times \right).$